

BILIAMEN ADEDOLAPO ABDULFATTAH
MECHATRONICS ENGINEERING
19/ENR05/019.

MR OKUNLOLA

1 $x - y - 14 = 0$ and $x^2 + y^2 - 6x + 8y = 0$
Solution

$$x - y - 14 = 0 \quad \dots \textcircled{1}$$

$$x^2 + y^2 - 6x + 8y = 0 \quad \textcircled{2}$$

from $\textcircled{1}$

$$x = y + 14 \quad \textcircled{3}$$

Put $y + 14$ for x in $\textcircled{2}$

$$x^2 + y^2 - 6x + 8y = 0$$
$$(y + 14)^2 + y^2 - 6(y + 14) + 8y = 0$$

$$y^2 + 28y + 196 + y^2 - 6y - 84 + 8y = 0$$

$$y^2 + y^2 + 28y - 6y + 8y + 196 - 84 = 0$$

$$2y^2 + 30y + 112 = 0$$

divide through by 2

$$y^2 + 15y + 56 = 0$$

$$y^2 + 8y + 7y + 56 = 0$$

$$y(y + 8) + 7(y + 8) = 0$$

$$(y + 7)(y + 8) = 0$$

$$y = -7 \text{ or } y = -8$$

Substitute y in $\textcircled{3}$

$$x = y + 14$$

$$\text{when } y = -7$$

$$x = -7 + 14$$

$$x = 7$$

$$\text{when } y = -8$$

$$x = -8 + 14$$

$$x = 6$$

Therefore the points are $(7, -7)$ and $(6, -8)$

$$2$$

$$2x + y - 10 = 0 \quad \dots \textcircled{1}$$

$$x^2 + y^2 + 4x - 6y = 0 \quad \dots \textcircled{2}$$

from $\textcircled{1}$

$$y = -2x + 10 \quad \textcircled{3}$$

put $-2x + 10$ for y in $\textcircled{2}$

$$x^2 + (-2x + 10)^2 + 4x - 6(-2x + 10) = 0$$

$$x^2 + 4x^2 - 40x + 100 + 4x + 12x - 60 = 0$$

$$x^2 + 4x^2 - 40x + 4x + 12x + 100 - 60 = 0$$

$$5x^2 - 24x + 40 = 0$$

$$\frac{-b \pm \sqrt{b^2 - 4ac}}{2a}$$

$$a = 5 \quad b = -24 \quad c = 40$$

$$\frac{-(-24) \pm \sqrt{(-24)^2 - 4(5 \times 40)}}{2 \times 5}$$

$$\frac{24 \pm \sqrt{576 - 800}}{10}$$

They do not intersect each other

$$3 \quad x - 5y - 2 = 0 \quad \dots \textcircled{1}$$

$$x^2 + 25y^2 - 6xy - 16 = 0 \quad \dots \textcircled{2}$$

from $\textcircled{1}$

$$x = 5y + 2 \quad \textcircled{3}$$

put $5y + 2$ for x in $\textcircled{2}$

$$(5y + 2)^2 + 25y^2 - 6(5y + 2)y - 16 = 0$$

$$25y^2 + 10y + 10y + 4 + 25y^2 - 30y^2 - 12y - 16 = 0$$

$$25y^2 + 25y^2 - 30y^2 + 20y - 12y + 4 - 16 = 0$$

$$20y^2 + 8y - 12 = 0$$

divide through by 4

$$~~10y^2 + 4~~ \quad 5y^2 + 2y - 3 = 0$$

$$5y^2 + 5y - 3y - 3 = 0$$

$$5y(y + 1) - 3(y + 1) = 0$$

$$(5y - 3)(y + 1) = 0$$

$$5y = 3 \quad y = -1 \\ y = \frac{3}{5}$$

put values of y in $\textcircled{3}$

$$x = 5y + 2$$

when $y = \frac{3}{5}$

$$x = 5 \cdot \frac{3}{5} + 2 \\ = 5$$

when $y = -1$

$$x = 5(-1) + 2 \\ x = -5 + 2 \\ x = -3$$

The points of intersection are: $(5, \frac{3}{5})$ $(-3, -1)$